Answer on Question #52828 — Math — Analytic Geometry
Find the equation of cone with vertex (alpha,beta,gama)and base y2-4ax=0,z=0.

Solution

Any line through vertex (, 8,7)is XT“: y=f_z-7,
m n

Any pointon this lineis (x,y,z) = (Ir+a,mr+g,nr+y).

It will lie on the given parabola y? — 4ax = 0, z = 0 if, for the same value of r, we

have

nr+y=0
(mr+ﬂ)2—4-a(lr+a)=0

Then
r=—y/n r=-y/n
{(mr+ﬁ)2—4-a(lr+oc):0:> (ﬂ—y%j —4-a(a—ylﬁ)=0

So, eliminating I,m,n

(1] ~a-al =yt =0= (pn-m) -4-an(an-) =0

(5(2_7)—7(y—ﬂ))2—4-a05(2—7/)2+4ay(z_y)(x_a)=0

The equation of cone is z°(° —4aa )+ 4ayxz + 4aayz—2fyyz —4ay’x+y’y* =0.
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